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. Section A: ('20 X 2marks = 40marks)

For each question from 1 to 30, four options are given. One of them. is the correct
answer. Make your choice (1,.2, 3 or 4). Shade_the correct ovat (1.2, 3 or 4) on the
Opticat Answer Sheet. ' . .

1. The diagram below shows the posi!iqns of a drop of water that dripped from the

. base of a pail. .
é‘ E‘ ——-4;;

/

- S

® »
o i

o
@

L - . b

The most gravitational potential energy is converted to other forms-of energy is |
when the drop of water falls from posifion .

Q). AwC
@) 8D

(4) ‘DtoE
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2. A pair of tongs'was used to pick up a glass marbie..

Wh?ch afrow represents the direction of friction?

A1} A
2 B-
e 3 cC

As(udy 6Iﬁ'—-ﬁf§j§ffé¢isof_ temperature on the number of adult frogs.in a pond: was R :
‘carried out. The table below shows the results. - R

“FYear - 2006 2007 2608 2009

Average 29 28 32 3
Temperature (°C) '
Population - 178 150 - 200 189

Which of the following reasons could explain the results obtsined?

_ e temperature decreases, frogs produce fewer eggs. "

{2 - When the temperaturé incigases, more frog's eggs areeaten: - . . -

=3}, .- Whenithe Teimperatire decreases; riore £dgs hatchinto frogs: =% .77
spread and kil more frogs. -

(D -When_lh

-{4) ~* When the tempesature Increases; diseases

- 4 Whichone of the following forms a poputation?

{1} Al the elodea and gold fishinan aquarium.
- {2} The four male and four female frult flies in a jar.
- {3) - The two papaya and three banana trees on 3 farm.
{4) Al the female gorillas and fernale chimpanzees in a zco.
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For questions S and 6 use the information below.

Mammal's leeth have particular functions:
= incisors — pick up and cut food

= canines — grp and tear food

= premolars — coarsely grind food

= molars — finely grind food

The photographs show the skulls of two maqixma}s, a herbivore and an omhivdre_'
No teeth are smissing from either skul.

canine

Herbi\_rore skull -~ Omnivore skufl

premolar N - mofar

5. What dtd this ormwore 'S teem do to. he!p to prepare food for swallowng"

(1) plckq:anduxtfobdo:ﬂy T T
{2} .pick up, cut and finely grind food only o
(3) pickup, cut, grip, tear and coarsely grind food only
(4) pickup, cut, grip, tear, ooarseiy gnnd and finely grind food
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4. The herbivore skull is different from the omnivore skull bécause it has

- {1}  molars in both jaws
{2) noincisors in eitherjaw
{3} - nocam and no premolars
(4) incisors and motars in thelower jaw only

7. Annabel gtew a smgte-cell alga- How many celis would there be aﬁer 4
generations of cell division?

(1) 4 ] _

2y 8 *
3 12 '

@) 16

8.  During, puberty period, rapid changes in the human body:takes- p!aoe. Whuch of
the following changes occur during this period?

A Dropping of miilk teeth

B Growing taller rapidly

C Breasts begin to develop for femaies

D Voice breaks and begins to deepen for males
E Hair begins to grow longer

(i} A,B,CandDonly S )
{2) 8,CandDoniy

3) B.C.0andEonly - :

{4) C,DandEonly _ .-
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9. Which of the following com

parisons between photosynthesis and respiration are

correct?
Photosynthesis Respiration ‘
A | wateris needed Wateris produced
B Carbon dioxide is produced .- { Carbon dioxide is needed
C Takes place in plants only 32; ©s place in living organisms :
Takes place in the presence of .
| D tight only Takes place in darkness only

(1) AandConly
{2) BandDonly
(3) CandDonly
{(4) A CandD only

10. The diagramy be!ow shows the h

question 10.

uman digestive “system. Usé it fo answer

Where does the last stage of food digestion occur before it is passed into the -

blood vessel?
(1) -A
2 B
@8 ¢

“ o
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1.

12.

Read the description of Material Y carefully.

Material Y

*{ @) Magnetic? — No
b} Good conduclor of heat? — Yes
¢) Good électiical conductor? - Yes

- What could material Y be?
{1} lron
(2} Stee!
(3) Capper
(4} Woad

A-pin wheel is placed on a hollow tin as shown. When a lighted candle is placed
below the hollow lin, the pin wheel begins to spin.

i ———pinwheel
N -.- N . ’ -
,1‘1 hollow tin

ﬁ—_ candle .

Four children observed this and commented on what they have seen.

Aa[iy;h  :Thecandle has stored energy. . . .

duces heat and light ¢

SRS _:_'_'.-.-Qigi-_' £ Hedtenergy fronvthe candle flanie cases the pinwheel to - LA

Betty > Hot air risesand kinetic energy of the moving air causes
' the pin wheel to spin.

Who have made the correct abservations?
(1)  Aaliyah, Sisi and Qiqi

- {2) - Aaliyah, Sisi and Befty .

(3)"  Sisi, Qligi and Betty
. {4) . Aaliyah, Sisi, Qigi and Betty

reigy when lighted, -~ . . *



2009 - P6 - SC - SA2 - Nan Hua

13.  Inthe diagram below, 3 box is mounted on wheels. Two boys are pushing as
herd as they can, but the 00X is not moving. Why?

(1) Noforceis acting on the box.

{2} Oneboyis pushing harder than the other.

(3) Theforce exerted by each boy is the same. _

{4}  Theforce of gravity on the box prevents the box from moving.
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14.  The graph below shows the changes in the percentage of dissolved bxygen_ in
niver water over a 24-hour periad. }

2400 0600 1200 1800 2400 - 'TTu';ﬁe‘rozday
Midnight Dawn rhidday Dusk  Midnight

Based on the graph, we can be very sure that -

A the percentage of dissolved oxygen in the river water was highest from
1400t0 1800 hrs. '

8 the intensity of fight available during the 24-hour period had litle effect on
the amount of oxygen collected. :

C  the percentage of carbon dioxide in the river water was highest at 0600 hrs.

D photosynthesis was at the slowest rate around dawn. - '

(1) Aonly , . ' - -

(2} B.,CandDonly

(3) AandConly
{4} - A CandDonly._

=
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15.  The graph below stiows the popuiation of four groups of organisms, J, K, {. and
M, in a community.

r Y
J
Population }  —
size
M
L
K -
Ofganism's

Which pyramid of populafion size best represents the above community?

{1} )
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16.  The food web below shows the food relationships between some organisms in a
pond community. -

Common
water flea \

A.gae

Water snail

5 Titapia) i Water plant
/ - ¥ ) :
‘Kingfisher Tadpofe
\ Great diving /

beetle

Based on the information provided, which of the following statements are true for
the above food web? : :

A ‘There are two ommivores in the food web.
B ‘There are six food chains in the food web.
C There are three predators in the food web.
D There are three herbivores in the food web.

{1) AandB only
(2} CandD only
(3 A, BandD only
{4) B,CandD only



2009 - P6 - SC - SA2 - Nan Hua

7. The diagram shows the beaks of four birds. Based on the adaptations of the
beaks, which one of the

birds feeds on fiying insects?

(1) (2)

3) (4y

11



2009 - P6 - SC - SA2 - Nan Hua

18.  The map below shows the location of Halu and Gukg village along a river.

end:

X Maize plants :

C Chickens

The viltagers of Halu viliage is proposing the bu:ldmg of a water treatment plant
.~ o supply waterfor honie itse. The water thalis to'be freated is pumped to the
treatment plant from the poiintin the river that is nearest to it

The water in the river flows iowards the sea in the direclion as shown by the
amrows above.

Which of the positions, R, S, T or U is the most suitable position for building the

water treatment plant?
(1) —Posttion R

LT (2) “Position S

B “{3) . Poahon T
4) Postn U

12
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19.

The foliowing table shows some aquatic organisms and the amount of axygen
they need to thrive in their habitat,

Aquatic organisms Amount of oxygen needed _
Rat-tailed maggot Very little
Bloodwom ' Little
Caddisfly larva . "Moderate
Mayfly nymph Large

Lindy collected four samples of water A, 8, C and D at different locations along"
a stream. She examined the organisms found in the water samples and recorded
the name of the organism with the greatest numbers found in each sample. Her
results are as shown in the table below. :

Sainple of water Aﬁuaﬁc organisms
- A . Caddisfly larva
B Mayfly nymph
C Rat-tailed maggot
D Bioodworm

Based on the informationi above, which one of the foflowing.most likely shows the
arrangement of the water samples from the most poliuted to the Jeast poliuted?

{1} A,B,C.D.

{2) B,A,D,C

(3) C.D,A.B

4) D, CBA -

13
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20. The diagram below shows the location of a pcwer plant along a river and the
. temperature range of the water in the tiver are indicated as shown. -

a6°C ‘ 34°C

32°C

30°C
River flow

{Note: Diagram not drawr 1o s-caie)

Every day, the power plant uses a large quantity of the river water to cool its
generators and this water ‘is then dumped back intd the river. The water
discharged from the power plant can be at a high temperature of 46°C. This _
increase.in. emperature greatly affects the organistns living in the river.

The table below shows the limiting factors for four of the fish found in the river.

Maxirnum temperature /°C Preterred
Fish - - - dissolved oxygen
Preferred range | Deadly temperature raage / ppm*
Camp 3t1-33 40 2
Perch 20-22 a3 10
Shlners L 921 o - B4 --10 ¢
R (“ppen = parts pes milliion)” - i ;

14
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21

Based on the information provided, which of the following statements are true
about the above scenarnio?

A

B
C
D

(1)

).

(3}

- {4)

Perch and Carp can be found thriving at the mouth of the Qiédmarge
canal. :

Carp, Shad and Shiners would be able to survive 6 km downsiream from
point P. :

Shad and Carp would not be able to survive upstream from the power
plant |

Fishes which have higher deadly temperature can survive in water with
fower dissolved oxygen content. '

A and C only
B and D only
A, B-and C only
B, C and D only

What prevents a man-made sateliite from floating away?

(1)
@)
(3)
)

Thie Sun’s gravity keeps it from floating away.

The Earth's gravity keeps it from floating away. . s

{t has strong powerful engines to help it stay in Space. =
The Moon and the Suw's gravity Keep it from floating away.’ - -

15
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.22, Compare the two fruits hejow.

Fruit A Frut B -

Which of the following statement/s isfare true?

A Both fruits aré dispersed by wind.

B _Fruit Ais dispersed by animal while Fruit B is dispersed by wind.
C Both fruits have wings to ‘fly’. : '

D Fruit A has hooks while Fniit 8 has a wingHike structure.

{1) Bonly

(2) AandConly
3) AandDonly
(1 B and O only

. 23. Which of the following machines uses the least effort?

16
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24.  The diagram below shows a circuit tester connected to a circuit card.

P Q@ r P a &
~N AN\
T S . s
1 )
P e Ry P Q R
A\ /7
T 5 T s

@ (@)

G

17
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25, Kathy placed a plantin a cylinder with red coloured water and covered the plant
with a plastic bag as shown in setup A in the diagram below.

plastic bags

plant

T plastic stick

cylinder with red
coloured water

Setup B

Using an identical cylinder and the same amount of red coloured water, Kathy -
set up another similar experiment, setup B. She placed a stick instead of a plant
in the cylinder. Both setups A and B were placed near a window.

A few hours later, the leaves became red and the waler level in setup A is lower
than the water level in setup B. The water level in both cylinders is lower than the
original level. Tiny water droplets are also found on the inner surface of the
plastic bag of setup A but not setup B.

‘What conclusions can Kathy draw based on the experiment above?

L U A L The plantiakes in water fiom its foots. LT MR

FRIT B THS plant bdnspired to reléase water vapotir, S _
LS T€ - “Water in Both contéiners s partly 16st through evaporation. .~ .
D Water droplets inside the plastic bag came from the air within the bag.

(1) AandConly
(2) BandDonly
3) AB and C onty
(4) A, BandD only
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26.  Santhi sel up an expericeent in a dark room, using a torch, a cone and four
sheets W, X, Y and Z. She arranged the items as shown in the diagram below.
‘The property of the four sheets of materials is shown in the iable below.

- ) i
Degree of transparency Materials I
Opaque W, X, Z
Transparent Y
torch . r -
sheet W - cone sheet X sheety sheet Z

She switched on the forch and made an observation,

Which of the following stalement(s} isfare true about her observation?

A - Aiinverted.shadowisformed.
B The shadowis formed on X only.
C The shadow is targer than the cone.
D Thelight from the tarchlight passes through Y.
(‘i } B only'. |

(2) A=andB only
(3) BandConly
(- B.CandOonly -

e TR L - .

19
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. 27.  Thediagram below shows the three states of a substance.

Gas

/ A

-

Arows A, B, C and D represent whether heat is fost” or ‘gained” by the
substance during each change of state,

\_Nhich one of the following best represents the four arrows; A, B, Cand D as
shown in the diagram above? :

A ' B C _ D

(1) | heatlost heat gained { heat gained heat lost

{2)| heatlost heatlost | heat gained . heatgained

. (3)1.heat gained - heat gained | - heatiost. . - -heatlost. |-

F D )] et guined. | ieatiost. | heattost - hedtganad|
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28.

The flow chart below shows cerlain characteristics of organisms

Stast

Doesit have a
backbone?

Yes

k 4

Does it have a pair

of wings?

-]

Canit fiy?

[

Does it have three

No
T "1 pairs of fegs?
Yes l
- Does it have a pair
of antenna?
) Yesl
B
No 1 poes it give bitth
¥ lo its young?
. No_ D!

No

- A, B, Cand D,

3]
No C

Whicki.of the following animals best represents oiganismo A, B, Gand D? = - -

)
@)

3

@)

A B . C D
Stug Grasshopper . Turtle Osfrich
Snail Ant Frog - Penguin
Cobra Spider Guppy Kiwi bird

Earthiworm Tenmite Dolphin _ Spamow
21
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28.  Jesie conducted a study on two animals, X and Y in their
period of ime. She drew a checkdist and

made the cbservation,

natural habitat over a
placed a tick { ¥ )in the box when she

At the end of her study, the completed checkiist is as shown below.

Observation Animal X Animal Y
Eggs are laid in waler v

There are three stages in the life cyde v

It has sixlegs v v

Based on ‘information above, which of the foil
animals, X and Y respectively?

)

2) -

(&)
@

Animal X AMmﬂY_
frog.  butterfly
dragonfly spider
domselfly cockroach |
mosquito grasshopper

owing animals are most fikely
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30.

Andy held a bar magnet above a paper Clip ied 1o a weight by a string. The

magnet puiled the paper clip up. When he placed 2 sheet of cardboard between
the magnet and the chip, the clip remained where it was,

Andy condluded that #ié -

‘ {1}  cardboard was magnetized

(2) paper dip was magnetized
{3) paper clip was very strong . .
(4) magnefic force couid go through the cardboard
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Section B: (40marks)

mé your answers to question 31 {o 46, .
number of marks available i :
port ot ailable is shown_l_n brackets | ]at the end of each question or
31.  Aball rolled down from four différent positi incii it it cam
J positions on an inclined plane until it :
fz: ;‘.top some drslanoe away on the floor. The distance travelled by ﬁielball frgm
ase of the inclined plane was measured and represented in the graph Below

. Dislm&uve!edbymehuﬂ .

Distorwc .
Trovelied
brbebet 4,

206

150

50 'f LR

i
1 2 2 | Position of the boll

(@ Atwhichposition (1, 2, 3 or 4) on the inclined plane was the ball highést
above the ground? . . 1

®) What energy change takes place as the ball was rolfing down the inclined
plane? 1

Score
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32.  The graph below shows the lengths of two springs when they are holding some

weights.
1 ength of
spring {cm) i Pl i
i £ A i
20‘_._..4.__..-___]."_......_'__l___._--_l--__.-___g_.._..
] 4 i i !
i S
18 __.____'_:_....___.._.g._..__';,_;‘._._._._ﬁ._: Spang A
— { . - i -
B B
= R
I s St
o D A s I
4_“"_*—_'r:“-'__?.‘m_'";*f-__";_"_
o ; ] ' )
. i i R ' .
e s w0 150 200 Weight (g)
{a) - How long was each spring when it was not stretched? : [l
SpringA:__
Spring B -

(b)  Whatis the weight needed to extend the two springs to the sam;a length? {1]

25
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33. Changes in the condition of an environment m

ay har the organism living in
the environment. Study the diagram below.

(2) - Which plant, A, B or C is most likely to_die first when there is no rain for a
long period of time and the water level in the pond decreases? [i} .

(b) Explain your answer for part (a). : [1]




2009 - P6 - SC - SA2 - Nan Hua

34. The bar graph below shows the biomass of four organisms A, B, Cand D living
in the same habitat and they are interdependent on one another for food.

In ecology, biomass refers o the iotal mass of living things of a species present
at a particular trophic levelin. a food chain.

Biomass
{units)

A B C D

Y

Organisms

(a)  Wiite down the food chain which represents the fdod'relaﬁbnships among
" the organisms, A, B, C and D : . L

(b}  State two iife processes in which energy is lost by the organism at each
level! of the food pyramid. : M

Score
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35.  The diagram befow shows plants A and B.

Both plants A and B have weak stems but they are adapied to grow well.

 PlantA S Plant B

(&) Basedon the diagram above, state the structural adaptattons of each of

the plant which enable them fo grow well. 2
Adaptation of plant A -
Adaptation of plant B:
.- {B)  Givea commeon reasonwhy these stmctuml adaptauons allow the p!ants S -
<7 ~to growiwell? - R : {ﬂ
Score
K 3
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36. Halim conducted an expenment to find out what affects the rate of water flow
through a funnel. Using two identicat beakers and funnels, he set up two
experimental setups as shown in the diagram below. -

funnel

Setup 8

He poured the same amount of water into the funnels of both setups.

In setup A, he rested the funnel on the opening of the beaker. fn setup B, he tilled
the funne! at the opening of the beaker. '

He noficed that the water flowed through the funnel -faster when he tilted the
funnei. :

{a8)  Whyis the waler level in the beaker in setup B higher than in setup A? [2}

(b)  State the property of air shown in this experiment. _ [
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37.

The classification chari below grouped objects based on the amount of light that
¢an pass through each object.

Place the following objecis in the appropnate group in the ciassiﬁcalion chart
below.’ _ ' 21

Frosted glass Glass Beaker Mirror Drawing block

Trading paper | Drinking glass
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. 38.  Aping pong ballwas dropped from a height of 1 metre from the grouhd. 1t
bounced.to a lower height each time it hit the ground as shown below.

(@)  Why do you think that the balf does not bounce back fothe same height it
- - ‘was diapged from? Explain your answer. - . {1}

() Atwhich position (A, B, C, D or E) does the bafl posses the maximumt
gravitational potential energy and, kinetic energy. respectively. 2

. Maximum gravtaional polential eriefoy : At Position. .

 Maximun Kiretic.eaargy - At Posiion.

31 -
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39. Look at the diagram below. A force was appilied {0 the ball on surface A.

Foréé .baif. moves : ba_ﬂ' sto"'ps- |
s W —~
— @: G

F—— 30cm ——— surface A

‘The ball stops after moving 30 cm.

(a) Name two forces that are actiing_- on the ball. ' [11-

Fotce ellmoves ballstops .
0 Q
F—— 55cm ~———{ surfaceB

(®)  The same ball is pushed again with thé same force ori surface B. The ball
. Maves 55 cm before it stops. Suggest a possible reason why it moves a -
longer distance on surfzce B than on suface A. - {1

{c) H.the expermerit is caitfed ot ih_ a'Vao'tm&x‘, the bélfhmoves a longer

distance. Why is there a difference? o m o

[ €A vacuumis o space ihat gontaing rio i or Gthergas) -

_Score
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40.

Study the diagram below..

(@)

&)

Name two physical characteristics of the environment that wilt affec{ the
growth of the rice plant. : [1]

If all the snakeés are killed, what will be the lmmedlate effect on the rice

- plants and mice?. Explain your answer.deady | 2]
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41.  The food web below shows six types of animals, P, Q,R, S, Tand U inga
particular community.

T~ N

() Whatwiﬂ likely happen 1o the population of P when there is a certaih-
_ disease that wiped Gut ‘only the papulation of T in the habitat? (11

)  Explain your answerin (a), _ |

)

() In the axis provided below, complele the graph by drawing and labeling
a line graph which best fepresents how the population of U is fikely to be
affected when the certain disease wiped out only the population of T in the

habitat. [t}

.4

Population
size .

4




2009 - P6 - SC - SA2 - Nan Hua

42.  The diagram below shows two species of moth with a variety of speckled
colouration on s wir__tgs_ and body. . . .

Moth Y

Moth X is light-coloured and Moth Y.is dark-coloured. . -
‘Both populations of Moth X and Moth Y can be found in the same nateral habitat.

The populations. of Moth' X and Moth Y. were tracked over a perod of time.
‘During this period of ﬁme,_pp!luﬁon accurs in the environment and resulted in the

blackening of the feaves and frunks of the trees where the two species of moth
usuatly take rest on.

The changes in the population size of moth X and moth Y are s-hb% in the graph
below. - - - o . )
4

_ Moth Y

Poputation
size

_ _ Moth X

!r.

Time {years) _
-Based on the information provided, explain how the olouration of the moths
Affected theirpopation size; -, . L ot Lo oS A

Moéth X =
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43.

Read the article betow carefully and answer the question that foiiows.

Bottle Gardens

A really attractive and unusual way of growing plants indoors is to
create a botile garden. i careflly made a bolile garden can last a long

| time needing very fittle altention and with the great advantage that the

plants do nét get dusty and pests, draughts and fumés are exciuded.
cta stitable glass container with a fid, The more air tight the i the
watering the plants wilf need.

jess

(abstract from: h@:{&m@g(emhrq 3 .e.aqpv'gurdeniugtbdrde _gardens him)

Based on the infermation from the al ract ab
© "botle garden canfast s long timp” with fiftle wate

>gxphin how the plants in the

{21
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44.  The diagram below shows how blood flows in

certain pans of the body. The
anows represent the direction of blood flow, '

a 1
AI 'la
" Heart '—[

Al paits of
body M

¥

(@) - Name the organ Q). . g : [1r

(b)  -Explainr why blood flowing at B has higher oxygen content-than blood
fowing at A, | 21

Score

37 _ -
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45.  The following table gives information on four objecis, W, X, Y and Z, based on
three properties. A tick { ¥ }Yindicales that the object has the property.
| N Objects
Property W X Y 2
N _____——‘———_____
Able to condudt electricity v
Able to be magnetized v
Is transparent v
From the information given above, complete the classification chart below by
wiiting lefters, W, X, Y and Z in the comect ovals. {2}
Objects
Able to conduct Not able to
electricity . - conduct efectricity
| | - - '
Able to he - Not able to be I Is transparent Not transparent -
magnetized magnetized

Score_:
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46.  Our bones are hard and stiff. They do not bend. We can bend or move some of
our bedy parts because of the presence of joints. The diagram belows show a
_.sk_eletal system with the various joints labeled A, B, C and D. :

}r
4
1)

g

i

e

H
J‘I]
.

X "tn !
i r'lt e

(@  Identify a pair of joints which is most similar in their movement, [t}

(b} * What is the difference between hinge joints and ball and socket joints? 1]

(€) " Which other systeins in our-body are reuired t6 work fogather withthé
skelelal system when we are running? L1

END OF PAPER - _
a9 -
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31)a)4. -
b)Gravitatianal potential ene:gy—)K‘nehc energy + Heat energy
+ Sound gnergy

32)a)A: 10cm.  B: 12am.
b)100g. -

33)§)Plal;tﬁ. e

b)Itis tbe .only land plant in fhe. daagmm Therefore, when
there is no rain, & will not receive any water but the othiér plant is
either on the hate surface of partially submerged, therefore if will
receive water.

.34)a)A>D>BSC
b)Respiration and growth.

35)a)A: Its stems twine around a support.

B: It spreads itself on the ground. ' .
b)It allows them of obtam more suniigﬂ: for photosynthes:s.

page1to3 ' page1l
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36)a)In set-up B, the felted funnel does not block the opening
completely so it aliows air in the container to escape easily. Hence,
water flows in easily to replace the air in the container: But in set-
up A, air cannot escape so water cannot enter easily.

b)Air occupies space. :

37)A: Frosted glass  B: GlassBeaker  C: Mirvor, Drawing biock -

38)a)Some of the energy in the ball was converted into heat
energy and sound energy. :

b)A, B

39)a)Frictional force and gravitational force.

- - ‘b)Susfacé B is anoother than surface Aso there is lesser ..
friction between the ball and surface B than surface A.

c)There is no air resistance so there is no air to stop the ball.

40)a)The temperature and the amount of water in the
envitonment. . - - -
b)¥he manmber of mice will increase and the number of rice
plants will decrease. There will be no snakes to eat the mide so
there will be more mice to feed-on the rice plants resulting in a
decrease-of rice plants. | '

41)a)It will become smalier. . :
b)The population of Q, Rand S will inaease and the numbér of

plants will decrease so°there will be lesser plants for P to feed on.
&) 4 g A - ' - '

E———

- 32)X: It.can he easjly spotted by its predators.as itis fight- -
couloured and will be easily spotted in the dark surroundings.
Y: It cannot be easily Spotted by its predators as it is dark-

coloured and it can blend in with its dark surroundings.

Page 2
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43)When the plants transpire, water is given out in the formm of
water vapour. This water vapour will condense on the cool surface
of the giass container to from water dioplets. The water droplets
will ﬂow back into the sail to moisten it.

" "44)a)The lungs.

b)Blood flowing at B has just absorbed from the lungs Most of
the oxygen in the blood flowing at A been taken in for respiration
by the rest of the body.

45)Y, W, X, Z.

46)a)B andD. -

b)Hinge joints aremoveable ]omts that allow movement in only
one direction. Ball and socket joints are moveable joints move m
many directions.

C)The muscular system circulatory system and respiratory

system.
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